Расставь порядок действий.
 Найди значение выражения:
(72507 + 56736) : (350 – 347) =
560000 : 100 ∙ 8 =
483042 : 6 ∙ 8 – 8044 =
4 ∙ (932 + 17692) : 6 =
500 + (600 – 3 ∙ 100) : 10 =	

Расставь порядок действий.
 Найди значение выражения:
60997 + (6012 + 6228) : 3 =
485 ∙ 2 + 485 ∙ 3 =
9805 + 14651 : 7 =
82213 ∙ 3 – 12240 : 3 =
(40179 – 15395 : 5) ∙ 4 =

Расставь порядок действий. 
Найди значение выражения:
55440 : 9 – 10460 : 2 =
3546 – 283 ∙ 4 + 819 =
1482 ∙ 5 +  6700 ∙ 3 =
5999 + 903 ∙ 100 : 2 =
(56043 – 13032) : (900 : 100) =

Расставь порядок действий. 
Найди значение выражения:
41090 : 7 + 11950 : 5 =
240 : 3 ∙ 5 – 399 =
372160 : 4 ∙ 7 – 721 95 =
4 ∙ (728 – 301) : 7 =
(286 + 14) : 3 ∙ 5 – 280 =	

Расставь порядок действий. 
Найди значение выражения:
2250 : 9 + 8420 : 2 =
9000 : ( 100 – 90) : 100 ∙ 2 =
283040 : 10 ∙ 3 =
100520 – 470 ∙ 5 + 13980 =
7280 ∙ 6 + 1965 ∙ 3 =	

Расставь порядок действий. 
Найди значение выражения:
11140 : (2076 – 2066) : 2 =
900100 – (735 – 184) ∙ 8 =
3010 – 5614 : 7 + 9042 =
46370 : 5 + 546 ∙ 4 =
1254 + 645 : 5 – 967 =

Расставь порядок действий. 
Найди значение выражения:
80115 : 3 ∙  10 =
40471 ∙ 2 – 4503 ∙ 7 =
400 – (64 + 36) : 10 ∙ 15 =
7020 ∙ 6 + 2090 ∙ 5 =
4600 – (7000 – 308 ∙ 6) : 2 =	

Расставь порядок действий. 
Найди значение выражения:
69580 : 7 – 14280 : 6 =
14110 + 801 : 9 – 7604 =
235 + 4 ∙ (536 : 8) =
12 ∙ (53 – 48) – 84 : 7 =
400000 – 702 ∙ 5 : 10 =	

Расставь порядок действий. 
Найди значение выражения:
7800 – (398 + 507 ∙ 6) =
15 ∙ (54 3 – 84 : 7) =
190 ∙ 2 + (32148 – 16) =
73460 : 5 + 454 ∙ 4 =
8 ∙ (900000 – 896507) : 4 =

Расставь порядок действий. 
Найди значение выражения:
13640 : 4 – 6400 : 10 =
(90 – 42 : 3 ∙ 2) : 2 =
(2700 – 30) ∙ (40 – 32) =
(5600 – 12240 : 3) + 145 =
400000 – 702 ∙ 5 : 10 = 	

Расставь порядок действий. 
Найди значение выражения:
8130 : 3 – 2640 : 10 =
(35400 + 83915) : 5 ∙ 3 =
3152 : 8 ∙ 100 =
40018 – 725 ∙ 10 : 5 =
838008 : 9 – 410960 : 8 =

Расставь порядок действий. 
Найди значение выражения:
480 : 6 + 360 : 12 =
(10200 – 9356) ∙ (81 – 75) =
2448 : 6 + 1854 : 6 =
2758 – 345 ∙ 6 + 369 = 
8 ∙ (900000 – 896507) : 4 =



